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Cluster: 0032 ptr; resid: 0.44; r/c: 49/49

x.range

upstream meme PSSM #1; e=1e−07

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=1.1e+05

1 6 11 161 6 11 161 6 11 161 6 11 161 6 11 16
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13951
18404

2680234971
54360

15730

16683

16722

31657

34520

38760

39627

39708

39760

42467

42911
43653

43884

43911

44073

44251

44467

44546

4466344792 45021

45087

45115

45130

45406

46307

47699

47806
47842

48025

48130

48378

49362

49657

49699

49717
49978

50098

50105

50321

50500

50583

51970

54643

string −500 −400 −300 −200 −100 −1
46307−0.01 18404−0.03 49978−0.05 34520−0.05 50321−0.18 48378−0.20 13951−0.25 39708−0.26 45087−0.29 54643−0.31 43653−0.34 44251−0.36 44792−0.37 48130−0.39 42467−0.47 15730−0.59 50500−0.68 44663−0.83 50583−1.04 16722−1.14 39760−1.17 49699−1.26 47806−1.31 51970−1.31 45021−1.34 44546−1.40 45406−1.40 26802−1.45 34971−1.46 50105−1.70 49717−1.75 50098−1.80 44467−1.91 43884−1.97 45130−2.00 39627−2.09 31657−2.25 38760−2.27 44073−2.29 16683−2.29 47842−2.30 49657−2.51 54360−2.67 45115−2.79 49362−3.03 43911−3.55 48025−4.50 47699−6.62 42911−7.44

log10(P) upstream meme1 2 log10(P.clust)=−1.59; 49 seqs; 49 uniq
c(0.5, 2.5)
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